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1. Simplify using the sum and difference identities.
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- 2. Simplify and evaluate the following.
a) sin 70° cos 20° + cos 70° sin 20° b) cos 170° cos 50° + sin 170° sin 50°
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O 7. Detmnmeexactvaluesforoos(0+ )andm(0+ )1ftan0 gand:rsos%”. QS
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O d) sin(& y) sin(x - y) = sin®x - sin%y | / —
LS =(s \AX (05\| + CoS X 3"‘5\ (sin)((os\{ ~¢c5 xg‘mi,)) FoTl,
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9. If cos(A + B) = 0.8320 and cos(A - B) = 0.4358, then the value of cos A cos B is
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10. The value of cos(sx + y) - cos(x - y) is
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' O 11. Givcncscx-—l—l;,whac :;”sxshmdwy--% whae%rsys:t,

the value of cos (x - y) is &9\ .
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12. Ifsin(A+B)= 075andsm(A - B) = 0.43, then the value of cos A sin B, to the

nearest hundredth,is _
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Sk cosB + Coshsing = OS5
) Sty cosD ~ cosh siab = o4 3

s A Cos ksinh = 0, 32
oshsinB =0.1b

Answerxey
1. a8) —cosB° b).cos x ¢) -sin¢ d) -sinx
2. 1 b) —% c) % d) undefined
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